Solutions



r

38

38

3/8|6|4(2|7

2|3

QP [Q\ (@)
0@ OIS NI
LO — OOIMIA

964
8|7|5
6(9/2|7|14

/714111219

/712191411 /3]8|6|5

6

2138
863|751
1 2

1|16
3|8|5







4 5
2/1|6
5(9|3|7(2]|1

11917/8/4]15|3|6

NMWOIOo || AN
(oRNe)NR o N O
< | ©O — O MO
N OY|OO |
O | AN
s

9/813|5]|2

1
3|76
L
8/5|3
961
6|84
2







8/3|6
2|75
112/3|6(9 |4
3/8|1
4|5

(00
QA
—
LO
™
(®

Q\|
—
@))
NSO
0|+
opRRTQY oo

D|O |+

IO

NN <
LN IN IO [0 O
OO |00 — |0 <
o O NI Y — IO OIM AN

3/1]19/6/|2




!II -
—lo] of Nl
l!llﬂll

lllﬂlll
T R A
g ol ™

7 E

IIIEE




	0-BlankSolutionsPage
	GM-Sudoku1-Erbx-soln
	GM-TomTom1-lknM-soln
	GM-Sudoku2-zrAk-soln
	GM-TomTom2-Itrg-soln
	GM-Sudoku3-gpfL-soln
	GM-TomTom3-rAqv-soln

